
 

JEE Main ς 2018 (CBT) Exam Solutions 

Test Date:  15/04/2018 (9:30 AM ς 12:30 PM) 

Subject: JEE Main 2018 CBT EH 

Part ς A (Physics Solutions)  

Sol 1: (3) 
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Sol 2: (3) 

 

Given,  
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Now Reading is 4 main scale and 30 circular scale divisions 
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Sol 3: (1) 
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Sol 4: (3) 
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Sol 5: (3) 
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Sol 6: (3) 
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Sol 7: (2) 
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Sol 8: (4) 
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Sol 9: (2) 
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Sol 10: (2) 
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Sol 11: (1) 

Through whole cube =  

Through one face  

 



 
 
Sol 12: (3) 
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Sol 13: (2) 
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Sol 14: (2) 

 
Direct formula base 
 
 
Sol 15: (2) 

 

When object is at 8 cm 
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Sol 16: (4) 

Third normal mode of frequency in open pipe, 

 Æ  

Where, Vs = 340m/s 
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Sol 17: (3) 
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Sol 18: (3) 

Direct formula Based 

 
Sol 19: (1) 
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Sol 20: (3) 
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Sol 21: (4) 
 

Given, 
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Sol 22: (4) 

 
Due to short circuit current will flow along  

B-C-D-E-F-A 

So 

R eq = R + R 

R eq = 2R 

 
 
 
 
 



 
Sol 23: (2) 
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Sol 24: (4) 
 

For balanced wheat stone bridge 
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Sol 25: (3) 
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Sol 26: (1) 
 

The station will require a band width of 30 khz  

So 

No. of stations  

ρπ 

 
Sol 27: (4) 
 

Á
τυ

ρυ
 
ω

σ
σ ÍȾÓ ȟ Ó ÕÔ

ρ

ς
Á  

Ó
ρ

ς
σ ρυ ρȢυ ςςυ 

ςςυρρςȢυ 

σσχȢυ Í 

Ó ÖÔ 

Ó ρυσπ τυπ Í Ó Ó ρρςȢυ Í 

&ÏÒ ÃÁÔÃÈÉÎÇ ÕÐ Ó Ó 

σπÔ
ρ

ς
σ Ô 



 
20 = t 

 
Sol 28: (4) 
 

Energy at the extreme 

ρ

ς
Ë! 4Ȣ% 

After switching on electric field 

New mean position  kxo = qE 

Ø
Ñ%

Ë
  

3Ï ÅÎÔÒÅÍÅ ÐÏÓÉÔÉÏÎ ÁÌÓÏ ÓÈÉÆÔÓ ÂÙ
Ñ%

Ë
 

4Ȣ%Ȣ
ρ

ς
Ë!

ρ

ς

Ñ%

Ë
 

ρ

ς
Í×!

ρ

ς

Ñ%

Ë
 

 
 
Sol 29: (4) 
 

When plane surface is silvered  
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Sol 30: (4) 
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Part ς B (Chemistry Solutions) 
Sol 1: (2) 

NaBh4 selectively reduce ketone. 

 

Sol 2: (1) 
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  (white  ppt) 

       Ź 

Insoluble in dil HNO3 



 
So, Cl-  is answer. 

 

Sol 3: (1) 

 

Sol 4: (2) 
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Sol 5: (2) 
With increase in the volume, pressure will decrease and so no. of mole 
So reaction will proceed in the forward direction when there is increase moles so option is (2) 
 

Sol 6: (3) 
DIABAL ς I Ҧ selectively reduce enter to aldehyde 
 

Sol 7: (3)  

! Ҧ .    . Ҧ / 

Ñ 5 Ў5    Ñ 5 Ў5  

ς υ Ў5    Ñ /6 π Ў5  

 σ Ў5     Ñ  υ+* 

#O !   

Ñ 7 5   Ў5 5 Ў5 π 

Ñ σ 5    Ў5  Ў5 Ў5  

     σ υ 



 

$ ψ 

Ñ ψ σ 

Ñ  υ 

 
Sol 8: (1) 
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Sol 9: (1) 
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CƛŜƭŘ ƭƛƎŀƴŘ Ҧ {ƻ ŘǳŜ ǘƻ ǳƴǇǊŀƛǎŜŘ ὩӶ, (Ni(Cl)4)2-
  is paramagnetic 
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Sol 10: (1) 

 

 

 

 

Sol 11: (3) 

at NTP 1 mol  = 22. 4 l 
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Sol 12: (1) 

[Ŝǿƛǎ ŀŎƛŘ Ҧ ǿƘƛŎƘ Ƙŀǎ ǾŀŎŀƴǘ ƻǊōƛǘŀƭΣ  

So B(CH3)3 

 

Sol 13: (1) 

O ς P ᵼ diff in B.pt  ᵼ Steam distillation 

Coloured impurity O  Chromatography 

 

Sol 14: (1) 

8Å & (/ᴼ8Å/ & ς(& 

8Å& ς(/ᴼ8Å/& τ(& 

 

Sol 15: (1) 
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Sol 16: (2) 

Axiom are greater in eye then colour, So, correct option (2) 
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Sol 17: (4) 
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This question says as which one will not form zwiter ion (4) will be right answer. 

 

 

 

 

 



 
Sol 18: (2) 

Basic Nomenclature. 

 

 

 

Sol 19: (1) 

Ksp of PbCl2 is 3.2 × 10-8 
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Sol 20: (1) 
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Sol 21: (4) 

Basic knowledge of Antiferromagnetic  

 

 

Sol 22: (2)  

Hydrogen azide: HN3 



 

 

Both works correct 

 

Sol 23: (4) 
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Sol 24: (3) 

Most probable is C6H5 Br 

 

 



 

 

 

 

Sol 25: (1) 
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Sol 26: (3) 

 

 

 

Sol 27: (2) 

 

 



 
Sol 28: (2) 
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Sol 29: (4) 
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Sol 30: (3) 

Activating Substituents: 

 

 

 

Part ς C (Mathematics Solutions) 
Sol 1: (4) 
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Sol 2: (4) 
 
 
Sol 3: (3) 
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Sol 4: (4) 
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Sol 5: (2) 
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Sol. 6 (3) 

Perpendicular vector to plane 
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Sol 7: (2) 
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Sol 8: (1) 
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Sol 9: (3) 

 




